I parmonic mean  of the

2. In a sample SUNVEY of a village, the

probability that & farmer is in debt is

0-60. What is the probability that three
randomly sclected farmers are all in
debt [assume independence of events)?

faj) 0-000216
b 0064
fe) 0216
(dj 0512

3. The probability that a family owns a
laptop is 0-68; that it alse owns a
desktop is 0-56. If the probability that
it owns both is 0-48, then what is the
probability that a randomly selected
family owns a laptop or a desktop?
fa) 080
(b} 076
fe) 036

(d) 028

roDC-0-MTH/44c

4. Anurn contains 1

1 jw the
Ay B Ccuo 3 _C00 4, cpo s,
nt ) VO
C'Eu ﬂﬂl’ld c[lﬂi ﬂ B
o o
fa) 3150719 i R A
L=
q
b} 4000/19 . ,.#""".H i
o~ \ ¥
c) 252 /JIF /"_':{ 1
... ﬂ"l. - 1'||1-. *
fd} '2:.}5 el ':-1.1‘1

0 white and 5 red balls.

If two balls are drawn at randam, then
what ia the probability that both the

balls are red?

fa) 221

b 147

fe) 4/21 J
fd) 3f7 .

E. An urn contains 5 white, 6 red and

4 blue balls, Three balls are drawn at
random. What ia the probability that
a white ball, a red ball and a blue ball

are drawn?

fa) 28/91

L 247

) 24/91
23/91

6. Under which of the following conditions

may binemial distribution be used?

1. The number of trials is infinite and
not fixed.

II. The trials are independent.

. Each trial has two possible

OUuteomaes,

Select the correct answer using the code
given below. '

fa) 11 only
(b) I only
fe) 1and

fd] 11 and 1M

| P.T.O.



7. A person X speaks the truth 4 out of 10. Three faces of a dic are black, two faces
5 tjmes and person ¥ speaks the truth are white and one face is red. The die
5 put of b times. What is the probability in tossed three times. What is the
that they will contradict each other in probability that the colours black, white

antd red appear in the first, sccond and

stating the fact?
third tosscs mﬂp{l‘t’!tivchr?

fa) 3/10
iy 1135 o fu) 1736
fc) 1/6
fdj 7/10 e 9
8. The pmhabiiit}’ that a student passes fel 7/36
Physics test is 2/3 and the probability
that he passes both Physics test and fd} 5/36
English test is 11/135. The probability
that he passes at least one test is 4/5.
What is the probability that he passes 11. A fair coin is tossed 4 times. What is
English test? the probability that two heads do not
@ 11/15 pccur consecutively?
13715
fe) 1415
fd 1 o) 3f8
9. An event X can happen with probability " fg 7116
p and event ¥ can happen with A
probability g. Further, X and Y are fd)y 1,2
independent events. Which of the
following statements isfare correct?
1. The probability that exactly one of 12. In a throw of three dice, what is the
the events happens is p+9- pg. probability of getting one prime number,
II. - The probability that at least one of one composite number and one number
the events happens is p+q-2pq which is neither prime nor composite?
Select the answer using the code given I
fa) 1 only " b 13
(B) 11 only
f
¢/ Bothlapngy e
fdd] Neithe
r 1 nor II (d) 1/6

TODC-0-MTH/44¢c 5 [P.T.O.



13. an or is chosen at random from the
- mtfg i|1ttﬂ{:r5' what is the probalxility
l;”‘! fhﬂ integer i8 neither divisilyle by

1l

5 nor 97
fa) 710
fy 1825
(c) 37/50

fd) 19/25

| 14. Out of 50 congecutive natural numbers,
t"l"l'l::l !nmgf'[‘s ans Gllﬂﬂt!‘l Et mndl}fl'l.
| What is the probability that their sum
| is gdd?
fa) 172
fh) 24749 :
fe] 1/4
fd} 2549
15. The standard deviation of 100
observations is 10. If 20 is added to

each observation, then what will be
the new standard deviation?

fa) 10
(b) 15
fe) 20

@ 25

ropc-0-MTH/44C

P arul p=k. Further,
MX=1= 0-4000 and FX = 2 = 0-2048.
What ia the value of 7

fea) D2

) 025

16, Let X be a random variable following
binominl distribution with parametera

fe) 03
fedl 35

17. The frequency distribution of the marks
obtained by students in a Science

examination is given below :

Markis 5-15 | 1525 25-35[35-451
Number -of 50 an 30 a0
students

What is the arithmetic mean?

fa) 20
(b) 25
fe) 30

fdl 35

18. If P4)=0-3, P(B)=0-4 and
PlA|B)=0-5, then what is the value
of P(B|A)?

fa) 0-325
(k) 0-333
fg) 0375

{d) 0667

[P.T.0.



and

=172
19, 1r pla)=1/3 PiB)=1/ o

Pg,a_ﬁﬁ};iﬂ. then whal is
valye of plAwB]?

fa) T/12
flay 2/3
fer 34
fd) 11712

M;ﬁd:r the following statements :

I.  Mean and variance have the same
unit of measurement.

[I. Mean deviation and atandard

deviation have the same unit of
measurement.

Which of the statements given above
isfare correct?

faj 1 only

(&) 11 only

fe) Both1land lI

fd} Neither I nor II

\jl/ﬁ'l.:t is the degree of the differential

equation

2 \3 S
o o

3

(b}

bl wn ]

el

(d)

B3| L

rODC-0-MTH/44¢

22\‘“ What is j: FI[JE"[IH elx, where ['] ia the

greatest  integer function and n is

natural number?

fea) "I_JL r_ 1

P )
ay el ‘5: I\ }m?

2
1

fet 3

T

@ Consider the following statements @

g

'-_._..---."':_
Pt

1. ynxeh’ is the solution of
ey ]]
—==yl2+—1
elx y[ X

. y=xIn|x|+ex is the solution of
dy _x*¥
alx X

Which of the statements given above
isfare correct?

fa) 1 only

{b) 11 only

e} Both 1l and I
fd) Neither I nor II

=

If k is an arbitrary constant, then what
is the general solution of the equation

2 dy o
(x+ )
f[a) ytrx=tan(x+c)+k

(b) x+y= kmn[%_-‘-‘)

(c) x‘y=ktan[y;c]

fdj y-x‘——.tan{x+c':+k

¥ [P0,
~J
'L.-* 13. N

£ 4

a7



dx___ aqual to? 28. What is the arca of the region bounded

e
hat is I‘i‘n}'_ﬁ{;'-" by |x|<2k and |yi= kK, where k is a
A
g -"‘"'r:-'-
i ™

positive real pumber?
fa) iand[lﬂll""f"
fir) 2k ?

by ak* )
\ -

"l":'.ll'_._,_--'_mIll
o i M
..I//J

@) niojan” 107 +e

"@Jﬁl—*zan"ﬂﬂ”]““r‘
inl0

(d) 0" +107%)+¢ i Bk ? I )
e
S LIS | jo 1-_ j
Vo e, 1”1
: { B
26. A wire of length ".:?EI'_ cm is to be bent “.mj l@ \
—a rectangle. Which of the following

-"""ff statements is/arc correct? 2 onsider the following statements

1
tangle of the largest area : i -
I. ‘The rectang arg regarding the function fix] = -5 D

is the square.

1. Itis possible to form a rectangle of
an area of 27 em?.

Select the answer using the code 'given
below.

fa) 1 oaly
(b) 1 only
fc} Bath 1 and II
fdj} NKeither I nor II
27. ]f I]. =

, then

dx 2 e*
— and Iy = |,

which one of the following is correet?
fa) h-iy=0

) i+l =0

e} h-21,=0

TODC-0-MTH/44¢ 11

-

=] - ¥
Statement: AL

fix) is decreasing on the intervals
x<5and x> 5

Statement-1l :

[lx) >0 for all x =3

Which one of the following is correct in
respect of the above statements?

ja] Both Statement-1 and Statement-11
are correct and Statement-Ii
explains Statement-I ;

{b) Both Statement-]1 and Statement-lI
are correct but Statement-1l does
not explain Statement-l

,/@/’E’-’t/&;ment-l is  correct - bul

Statement-11 is not correct
(d) Statement-1 is not correct but
Statement-II is correct

[ P.T.O.



30. Consider the
Statement=1

awitye statcments @

|
x* + 128
ﬁ_ll'.ll:lllnn. _,I"{.t'l = —x— - g

The

a minimum value 98 at x =41,

Slmgmcnt—ll :

As x incrcascs through 4, f'[x)
changes sign from positive Lo

negative.

Which one of the following iz correct in

respect

of the above statements?

{a) Both Statement-l and Statement-I1

(b)

fc}

(i

are correct and Statemeni-Il
explains Statement-l1 .
Both Statement-1 and Statement-Il
are correct but Statement-Il does
not explain Statement-I

Statement-| is correct but

Statement-II 18 not correct

Statement-] is not correct but
Statement=Il is correct

For the following two (02) items :

ﬁf‘iﬂ"f""‘m foa=1-oc-12.
31. What is the domain of the function?

(a)

(e
(d

ea
(===, =)

(0, o]
(o=, o)~ {1}

32. The function has

(@l
(b}
fc)

(d)

TODC-0-MTH/44¢

a minimum at x = 1 'r-l';
a maximum at x = 1

neither maximym nor minimum at
xe=]

13

For the following twe (02) items :

Congider the function

- 4(5%), x=<0
flxr= Bk +x, xz=0

33. If the function is continuous, then what

is the value of K7
fa) 05

{1
fe) 1:5
fd) 2

34. What is f’[-1) equal to?

fa) %InE

3
®) IS
c) %m 5

(d) 20In5

For the following two [02) items :

Let u = je‘ cosx dx and u= 'Le" sin x dx.
]

-

‘,L'.S'f'ﬂ;t is u + v equal to?

du

[ —

dx

L e
el ~

(et}

(b)

a:!_E
dx
clw

dx

(c]

[ P.T.O.



eyiMe 1

idﬂl‘ the following : a8. Consider the following statements

[ L - 1. The function is differentiable at

L.
X =3
I dv _ _y iI. The function ias differentiable at
elx x =4,
. Which of the statements given above
Which of the above is/are correct? afare cor raet?
fa) 1 only
(@ 1 only by 11 only
fcj Baoth [ and Il
fb) 11 only

fel) Meither I mor 1

fc) Bothl and Il

(d} Neither 1 nor I For the following twe (02) items :

x g -
Consider the function f(x] = :‘ﬂﬂ; :;;_i.
" misfafafafn_ﬂﬂ]equaltﬂ?
or the following two (02) ite :
owing (02) items m) i
Let the function f(x) = |x - 3]+ |x = 4| be defined 1=
on the interval [0, 5} ' % 2 ; __(.,{-:';"'
fe} 5 \;
37. What is % at ¥ = 3.5 equal to? fd) 10 =
_[2-9) .
, M L_,f __r_r_.) [ Wﬁ the inverse of the function?
+ O-
_’ng"‘ fa) lugml?xhl}
1
(B 1 CD {b) EIDEW{E"‘:'“
fc} 2 k fc) l'lu [E_x]
3 CB0{ 5T
(d) 35 ( 2 [h{]
TODC-0O-MTH/44¢

16 | P.T.O.




i : nded by the curve
' 02) Hems : 44. What is the arca bou ¥

For the following tW° [02) 1 Fix), the x-axjs and the lines x = =2 and
Let =17
; 1
1-0082X . @) =
E 0 2
T P w3
e x50 .
J16++x) -4 € 3
fed) 3

fj):-""»i‘ha: is i fix) equal to?
- K—kF=
/ 2 45. Consider the fellowing statements :
f

.  The function is increasing in the

o 4 interval (==, =).
fc] 6 II. The function is differentiable at
(d) 8 x=0.

Which of the statements given above
igfare correct?

|42~ What is lim flx) equal to? fa) 1 only

{b) 11 enly
e 2 fe} Both I and II
jﬂ_‘;ﬂ fd) Neither I nor 11
fd] 9

For the following two (02) items :
Consider the function ;_‘E;:..--"

fix)e Z— (x>0, x=) -
For the following three (03) items : 1=x

Consider the function f{x) = x|x]|. What.is flx) equal to?
flx+1
43. What is ;LHL flx) equal to? ; rﬂj —fl_:cﬁ‘j ___,.,'?"""."
@ - | ®) -fI) %fﬂ;/ .
B O -4 e
2 <
P st e E o
(d) Limit does not exist i f.f;li (@ flx-1 @
-7 .
\
&~
TODC-O-MTH/44c &f%.; g — +) [ P.T.0.




fa) =fix)
B fix
fe) x

(d) ©

fe] 4n

(d) &n

g dgy
at s E

fa) 0
(b} O35
fe) 1

(d) 15

TODC-0-MTH/44C

47. Whatis (1- /R **/

For the following three (03) items :
1 -'] n
n X g
Let y= fla) = o +Invl-x2,

yl-Xx

z

at is the slope of the tangent to the
curve y=fix) at x=0-37

fa) 4n3 /27

(b) 83 /27

at x = 0 equal to?

{(+'x + 1) equal to?

.y
_,seﬁ/f/h‘jsinﬂ. then what 15 E_l.; equal to?

19

/‘mﬂ

fix) Aaec”s B

fe) Baec® B

2
fd] 2tanf + Bsec -]

51. Which one of the following is the

perpendicular form of the su'_zughl line
J3x+2y=7T7

A T
fa) y=--—3—x+£

=
+
=
]
jn

(b

Tl
—
b | =1
ol

als

= )
i

Si®
i
3

(c)

]
=J

(d)

‘iml‘m
S

52. If the vertices Band D of a square ABCD

are 2 3) and {4 1 respectively, then
what-is the area of the square?

fa) 2 square units
() 3 square units
fc) 4 square units

(d) 8 square units

(P.T.O.



5 the valuc of sinf il B is the

™

G=g+b,_If [d|=1b]=2

3 |..-Et i = fl:‘ o i;|
/Ed/P o Mgl i
and d-b =2, then what is the wvaluc

§3. What i ;
acute angle petween ithe lines whose
cquations 0r¢  PXTAi=pEq aned | del
plx - y)+aqlx + ¥ =227 of |[px4ql? .a{ﬂ)
. v % - E:""‘ﬁ"
faj ? ) 5 Lm...- H_F-f_l,h‘:'
el O v 253
w2 (b) 6 \ e
‘I .
1 ’ @ 23 IR L
e 5 , lh‘l
: = Ill":I'1 cgiﬁ
e 3 s g
@ % e Lot gy
2 gt
-"],&‘Ih"é“"ﬁ &

4./ The circle x2+y® -2kx-2ky+k?2 =0
touches the y-axis at P and y-axis at Q.
What is P equal to? ; -
{ﬂj '\'Ek

B} 2k

fe] 242k

fdl 4k

What is the distance between the foci of
the hyperbola x? ~4y? = 17

J3
@ JTTI'E
{b) 45
© 243

(d) 243

TODC-O-MTH/44¢ a1

e g S

/4 many of the following can be
a vector perpendicular to both the

vectors 2i - j+k and 1 + j+3k?

. 4i+5)-3k Mﬂ}_s"—rﬂ =a
M, ~#M=10j+ek " g 3 =%

. &
M. L (47 -5j+3R) B!
50 —F 1o+
Select the correct answer. _
g T
o +2
st e
fa) None ;
oo MBI
(b One o 55
e} Two
l_____fgj.-ﬂll three
[P.T.O.



area of the paraliclogram Far the following twe (02) items

are TCpre sented by the ,
3f and 20+ j+2k7 A plane P is parallel to the line having dircction
ratios (1, 3, 2) and  containa  the line  of

interscction of the plancs Bx +4y- Sz =2 and

1 re units
/kﬂfi'-"ﬁﬂl“" 3 A x=2y+3z=10
[

P (s H ' a
b 61. Which of the followlng are the direction

58, What ia the
whose aidcs_l
vectors 1 +2JF

® éﬂ? Sk i h m{h fe W )'i}nl.i:m of the line of intersection of the
'’ j) = piven plancs?
(c] 76 squart units ) qa ,'}1\1“ i fa) (2,23 16}
| | s\ 2 *3’ﬂ ) (2 -23, -16)
. AT e T @ (232
- o @ (-13-2)
%g position vectors of the vertices A, B,
& and ok % QUBKEURTEIN, A, BT5 62. What is the equation of the plane P?

given by 3 +4]-2€ 4i-4j-3k,
\ op_a)eok andwﬁi-E_HE re‘_—r_spactivcly, fez) ax —20y+29z+2=0
e e —— T

What is the angle between the diagonals (b) 2x-20y+29z-2= 0

AC and ED of the quadrilateral? (c) 2x+3y+2z-4=0

fa) 90° : O h (d) x-3y+2z+5=0

By T3°

fe} 60° For the following twe (02) items :

[d 45° E @; Suppose S is the sphere with the smallest
radius that passes through the points A(l, G, O,

B(0, 1, 0) and C(0, G, 1),

‘.__’.L':‘H‘\. —r o -
y force F =2i -3 ]+ 5k is applied at the
63. What is the radius of 57

T0
DC-0-MTH/44C 23

point A(l, 2 5). If its moment about the
point B-1 -2 3 is 161 - 6]+ 2AK, then 1
what is the value of A7 (@ \E

@ -2
F (b) E

(6] ©
fe) 1 (c) %
LR @ 1

[P.T.O.



Gd On 'W'h'il:!h one of the fﬂ"ﬂ"-'-l'il'lg ]JIE'IT'IE!H- a6T. For difflerent walues af e, the l:q_uaﬁnn
does the centre of 8 lie? 4y =mx-m+2 represcnts

ja) parallel lincs

=1l=0 "
fa] x+y+= 41 concapront lines

) x+y+ztl =0 fc) lincs at & ﬁ.'m:_l distance [rom the
arigin of coordinates

fc} 3x+3y+32-1=0 (] the same line

fd) 3x + 3y 3z+1=20
68. The equation of the locus of a point
cquidistant from the points |a b) and
(6 d) is lc-:—-t:ax+l_b—d]y+k = 0. What is
the value of k7

For the following two (02) items : al o2 a2 + b2 _d?

- 2, 32 _ a2 _p2
Let A(L - 1 0}, B(-2 1 8 and C{-1 2, T)are three L
consecutive vertices of a parallelogram ABCD. fc] lﬂﬂ _2+p2-d3 /2

2 4 a? -a? -b?%) /2
65. What is the fourth vertex D7 (dl le° + o )}/

fa) (0.-21) 69. Consider the following statements in
spect of the equation x* +3y=0:
B @0~ i i -
I. The enguation represents the
(e} 1101 J equation to parabola that opens
upwards. -
(d (L20) ;
Il. The axis of the parabola is x=0.
z IIl. The equation of the latus rectum
66. If angle BCD is 6, then what is cos* 8 is 4y—-3=0.
equal to?
How many of the statements given
fa) 26/77 above are correct?
(b) 27/77 (a) MNone
bl One.
fc) 82/237 (4 ‘Ene
fc) Two
8
(o PR e (d) All three

TODC-0-MTH/44¢ 25 [ P.T.O.




& t is the sum of the binary numbers

(101101101); and (100011)57
1

. X A 1‘31
e~ 1110010000); ol 9 |

\ ﬂ.q {ﬂ
(b} (110001000) :
2 E‘.ﬁﬂﬂ'ﬂ

fe] (1100001005 \ \ﬂ
{d (100100000),

@Sﬂ X contains 3n elements and set ¥

contains 2n elements, and they have
n elements in common. How many
elements does (X - ¥ )x (¥ - X) have?
fa) Sn?

(b) 4n?

fe) 3n?

fd) 2n?

TODC-0-MTH/44cC ' 27

b i et ok BRI Tooptaiar (3. et A=(-3-2-10 123  and
L the line B = (0 1,4, 9)-How many elements does
] 2 the subsct of Ax B corresponding to the
ji' ! F g a’ +‘;i relation R = {[x ¥ | 2| < y} have, where
. xe& Aand ye B?
gn the coordinatle axes? P
@ (b) 12
; as
: 5
) 1 e 1 , -
fd) 16
fel 5
2 .1 iy
el @/éﬂnaidcr the following statements :
Statement-1 :

If X is an nxn mslu_rl:@,_ t_hl:n
det[mX] = m" det(X), where m 15 a
gealar.,

Statement-II :

If ¥ is a matrix obtained from X by
multiplying any Tow or column by
a scalar m, then det(Y] = mdet{X]).

Which ene of the following is correct in
respect of the above statements?

fal

(b}

fc)

(d)

Both Statement-1 and Statement-1l
are correct and Statement-lI
explains Statement-1

Both Statement-1 and Statement-11
are correct but Statement-ll does
not explain Statement-1

Statement-] is correct but’
Statement-1l is not correct

Statement-1 is not correct but
Statement-I1 is correct

| P.T.O



| _ﬁfrc:n:id:r the following stalements about 7. How many values of 8, where -n<8<n,
: L 2s 08 hath the cqualinnﬂ coth = =J3

satisfly
the matrix M=|57 28 29): and cosccl = -2 simultancously?
G5 17 48
. inverse of M doe fer) 4
Sratement-1 The % 1ol
exist, ‘-""/ﬂ fly 2
atatementll : M i3 non-singular. W ;
fe) 1

Which one of the following is correct in
[ the above stalements?
respect O o T
fa)] Both gtatement=1 and StatementiH)
are correct and  Statement-l =

jains Statement=] . | |
exXp "W ox+ _];- = 2cos [-'g, then what is .1‘:3 ~ _3-
x

b Both gtatement-] and Statement-I1 £ .—5'-
are correct but Statement-Il does equal to? g, N ™
not lain Statement=I1 {‘b_-ﬁ..- -y ;

. (@) cos’ @ s o
Statement-1 18  correct  but 1. 2 = 2
Statement-Il is not correct ) cos3 47, & o

fd) Statement-l is not correct but ad > o

Sratement=Il is correct e Seos3B - i X
"'!3 T

*(d) 3cos3b

G

cot™? 9+cnsa::"1[

2[5

] @ f 0=x sg, then what is the number

of values of x satisfying the equation

equal to? tﬂ§+sﬁcx=i‘2ftsx?
fa) 2 v ' T
+ a0 E
® L
3 b) 1 RPN 5
) i
e e) 2 ,‘%:"'
S
(d = ;& (d) 3

TODC-0-MTH/44¢ 29 . [P.TO.



§3n P
a5 B mo S 3T
= -1 T 2
Bl
of iz ___E::.f:{!;’—:
}/ﬂﬁi is the valu® e ihe following two (02) items - ""f
2 &
1,_,_.-,,[.!_'3::: '[-_E]]? Let (G+104+ 14 +... upto m terms) e
2 T -ru+3+5¢7* .up to nterms)
) -3-:.-'-'{ . )
- 5 g5 where m <25 and n <22
fa) 2-+3 A i
/P-" 243 J{H"‘ o 83. What is the relation hetween m and n?_} ,.}'
_‘.-'-"-.-. f‘r‘.‘ 3 &
fel \'Fj"l Aﬂm ‘!].-{ -.[-r ] fa) HE FM{M"I‘H ::sl' lﬂG*L E',.-
[Tl Ale ¥
() 3+1 M ) n? =mim+3) /‘t‘ :?%
T
&=

o Lq- mﬂ) ﬂl-:"m)

_r-"j/’f

For the following tw0 (02) items :

Consider the equation

A:ﬂf‘n =2mim+2)

i
%‘;"mw values ible?
g
-3;1"""'\}- 1-) _ab
=

fe} n? =2mim=1)

of m are possible?

m*w~m=w2+m+m {a) None
C
“If the roots of the equation are :qua.'. () One ab X0
then which on€ of the following is tn,#h':-“ _‘h'f.‘.-
correct? t:t:)'“. g Two e ce
fal ac = b2 *11"'-*'&(:“' {d) More than two h""t'ﬂ o,
[gh‘. K, c.n*l‘f') = @ = 2 =%
R e 2 q-[“h'{'al' o i O e
c- 9 73 Ln""g o) = ‘o "r.ir"' =
1,1 8 (B a9 &0 g
4 2 e » o e e
l:— t-) _ Lﬁ*churlhtﬁuﬂumngtwu[uijtmms Qv
—(‘m-']: ) 1 i 4 gﬁa" qnt-
P "
a ¢ b "Ltf""a ﬁmmapﬂmﬂnaplantnutufwhich
4 points are collinear.

/82,111 the roots of the equation are equal,

then a, b, ¢ are in
1
fa) AP ‘_:__:_E__. S
o C
(b) GP ) -
b
A~ HP ate T T
e 5
(d) None of the above at -
s~
& *‘t;’ﬁ'q’ﬂh
TODC-0-MTH il
/44c b 31
L -
&Q o

““How many triangles can be formed by

joining these points?
Q¢
fa) 56 R — 1
3 al~
'Ilh.ll a4 (’E):_.I'-' —_ ﬂ! . B
¢ 53 a! S
1 =2

452

O ot
. 1_,01-""#&-‘ Mﬂjlﬂ/
';'E:;_.- ﬁ;l‘.‘l ntﬂ".ﬂ.



g ®
}{Huw many quadfilanri\I; can be formed For the following two (02) ilems : -
4 el i

by jeining thest Pt s 5“1

Tﬂ hﬂ'ﬂ' ﬂﬂﬂﬂ' 1q-i|-|-E wﬂ'

*, g :
/ﬂ’fyﬁg %‘l., - -
ol 'ﬂ 9 What is the value of the determinant of

53 / P _,_.--ﬂ

iy " f the matris Jﬂ- 7 dﬁml [} J..?pl‘l e Pntm
i - f

(d) None of the above 5 -yr‘f" f) O o el cape=gin

*-—-FW"'/ 1’?‘ '{*1-
g o &:5"9"
/0 fo) cosd4h-sind % _ )

{ed} coa® 48 - ain® 4H

& items
For the following two (02 B | _ q.igﬂ-g'
r—iﬁ:ﬁat is |adj Al equal to? 2
uadrati | )
Let fx) = ax 2 bx+cheaqg ic polynomial o A ___,.L-—-' B ‘Qﬂ'

such 'rJ'lat fiy=f=2 Further, 2 is a root of

i = (o) -AT
) el 1 D,_\S \
/{ What is the other root L@ /,@ ) aT \

c_ -
ox®” -

(\

&"v following two [02) items :
Ec"'* x Far the following :
2 L3
i \ Jr"irh Let @ and B be the roots of the quadratic

’. equation
x2 + llﬁgu.ﬁ[ﬂzﬁx ""[l“En-r;.lﬂ:'ﬂq =

A4
o *

fd] Cannot be determined

5’ .

/@Uhal is (a+b+e) equal to? L0
\

2

fal 0

here a® # 1 and lugn_sllﬂi]::{}. Further,
T " ——

= a (log 2 (0- S)).
E.Whatiaﬁequmm? «//ﬁ,‘ o 0

(@) 1og2(0-5) (D

1
ki i'b} logg.sla®) 4 Ii
M (e 2(log .2 (0 5)) @ — Srr.hﬁ
2 (30
{d) Cannot be determined (d) 2logg.s(a®)
-0 P.T.0
TODC-O-MTH/44C L SX + G [
ot gayrD
eH @
= tmc-ﬂ"‘" 5
= F__‘g‘; nd &

L_ —— e A ST OB




gz. What is the relation between & and 7

faj @ =2p
) 2=
fe) o ==

(d) 20 =-P

ﬁﬁ:;r the following two (02) items :

n = R ]
Let p=3;. 0B 2’ and 4= 2-1lor10 57

03. If p+g=66, then which one of the
following is correct?

faj n<¥
B T<n<9

fe}] 9<n<l2

fd) n>12 &
94. If p+g= 15 then whatisg- p equal to?

fa) logyp2:5 : :

(b) Slog;p2-5

fc) 10log;,2-5

(d) 15log;p2-5

TODC-0-MTH/44C

For the following twe [02) items

Let sin A+ ain B = p and cosA+cosB=q

96. What is £ equal to?

)

A _:—E__H ]

B

]

i
fies) lnn{ﬂ: k
(

() cot

96. What is B
o

fa) cos(A+ B

{b) cos[A-B)
n
Z-A=-HB
fe) cua[i ]

fc) ma{n—_ﬂ - Hj

L] r
nepasiBh2s A8 o cong + 2 0on AT

For the following two (02) items :

Let p =cosec 20® and q = cosec T0°
..11'|-lf-l'-——"'_-" = T e

102 9) et w2

4 4
@ -1
b £E
I’hJ 0 -E.-er'-; - --""'E,;
() 1 ;;_’*LE:/B::/
(d) 2 =2
3 — Ta2¥
— SR
35 % " mLF,TJ:I
- s
.:F’ﬂ,.r"
(o ceb
g §1n?° e



2 q:'z ;
o8. Whnl in F—__,_,"R' . gqunl to?

poa

fer) =

fiy 1

fc

L]

(d) 2

For the following two (02) items ;

Let cns{lr 4 Sy} = % and cos(3x+ Ey’} = _"‘I;E.

where -n<[2x+3y) <™ and -n < (3x +2y) < n.

99. How many values does (x + y) have?
fa) Two
(b} Three
fc) Four

fd] More than four

100. How many values does (y- x) have?
fa] Two
(b) Three
(¢) Four

(d] More than four

T0DC-0-MTH/44cC

a7

101. In n class of 45 students, 34 like to play
cricket and 26 likc 10 play foothall.

Further, each student likes to play at
lepat one of the W3 games. How many
atudents like to play exactly one game?
fa] 45
fly) 30
fe) 25

fe] 15

102. The systemn of equations
2x-3y-5=0, 15y-10x+50=0
fa) has a unigque aplution
(b) has infinitely many solutions
fc) 18 innnﬁaialcnt

(d) is consistent and has exactly two
solutions

ses—T
i B v 21
1+1 1-1

where i = /=1, then what is the smallest
positive value of (m -n)?

/141/1’ Rl
; _,3)@"'@)

=)

(b 2

fe) 4 _
P A

(d) 8
-

[P.T.0.

%
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j04. In obtaining the solution of the sysiem of ET"J’J:I‘-IH: value of the determinant
-

equations X+HHER T, x a2y, a, 16

the value of ¥ is oblnined by givigi,, Sl
D by D,, where p qr
g | A is equal to
p=(12 3 a b ¢
1 3 4 @ |p a
i m n
What is the value of the detlerminand
[ m n
D,?
i |la b ¢
par
fal =13
. par
b} -3 ey a b c
I m n
fc} 3
a p 1
(@ 13 (d) |b g m
e r i
a r . b .
,@ Consider the following in _respect of .«m:‘ﬁfﬁh w* he three cube roots of wnity.
J non-singular matrices A and B: “ ! . If x=a+bh, y=an+be’, z=aw” +bo,
¥t .
L [.-q_Bj'l & ;1_15,1 ?C) | then what is x? +g,-E +z2 equal to?
i (oFBab 3
I. (BANAB)™ =1, where [ is the (b 3ab [_D‘I'y L
identity matrix
: € a2 +h2

. (AB)" -A’"BT/C e (d 1
mh}r 4-digit numbers that are

How many of the above are correct?
divisible by 4 can be formed using the
: digits 1, 2, 3 and 4 [repetition of digits
fa] None is not allowed)?

Mne fa) 3

e
fc) Two 58
fd) Al three [d 12

(g T W a4 w2 0b
=+ + 3 7.
n"‘q-h"*“"h aw + b4 2 ab QW W

T0DC-0-MTH/44c _‘,é’ [ P.T.0.
i ab T 4=

7!?! % i il AR

@I " ! )




i1
&=

T

non-cmpty subsets of

109 b, ¢ ore the sides of a triangle Ac 112, If A and B are
and p is the perimeter of the triangle, o Cucd e nd B Tepresent R
then what e complements, then which of the
p+tc @ b following iafare correct?
b
g Pue . A-B=B=A°
s i p+h
. A-B=A°-B
equal to? a0 4htC 0 | ) .
’ . . gelect the anawer using the code given

Pananre [P0 (5]

r"ﬂfir'lfj Y flah

uﬁ*"ﬂ’a {a 1 only
2.

asrbec | V)
(e} 3p° I }L s 4 LI (b) 11 only
| s
{¢) Both I and 11

(@ 4p3
. LJLEE_%J ol @ -3') H-LI#ED {d) Neither 1 nor 11

110. Which one of the following is the preatest
coefficient in the expansion of (1 + X103

g ‘E’g
IE(E" 115, Let y=x! and z=2x). If (z/y) =120,
then what is the value of (3x)1?

Tacheawr,

fal The coefficient of x100
g 12 ( 5 ’19

(b} The coefficient of x 2 ﬁ. S
Iz (e} )
fc) The coefficient of ot {‘é L TR = =5
h) 181440
fdl The coefficient of x50 @ % @ L i
111, If p* =g¥ =r%, where x, y and 2 are
in GP, then consider the following o 2
statements :
I. p, gand r are in AP, 114. Let n be a natural number. The number
II. Inp, Ingand Inr are in GP. of consecutive zeros at the end of the
expansion of n!is exactly 2. How many
Which of the statements given above values of n are possible?
isfare correct?
(@) 3
fal 1 only
- ) 4 D
(b} 11 only P?
f¢) Both I and I 8
(d) Neither I nor 11 W: than 5
TODC-0-MTH/ 44C 41 [P.T.C



"

e

=

LT

¢ (10+logg X (10 +logyq 1)
then consider

(10+1ogyp Z) BTC in AP,
the following gtatements |

115. !
. The GM of x and & ia 2,

The AM of leg)p X and log,q = 18
logo Y-

.

Which of the statements given above
:is,."El"': cg]‘fﬂﬂi?

/lﬁlf

(ral? —o

~1++-3
u = —————

2 e

then what ias the value of

‘."I-'.i]lm‘.l ~(1- a3y 25 .1.,;,:33"5'['?
- {-1 --'3'-"::‘ + L
__#l-#.

Co-3)

fa) -2 ( _]_A-L'ﬁd-f-*]‘tj

() m)""“

fal 1 only f—**ﬂ'"
- 0 E - e
(o) 1 only AT (Ehﬁ - (—-fl-u:l}
d] 2 T
() Both 1 and II { (L = o .50
bk o i
{d) Neither I nor II ﬁ/-' x z fas
. What is the remainder when 35
divided by 137
@ﬁ“ many terms of the series fa) 10 e '5"._“ re &0 T =g
\ 143+ 5+7+...amount fo a sum equal 8
to 123456789876543217 (b
a
@ 11111111 fe)
(d) 6

fb) 110000011

fg 111101111

(11

How many terms are identical in the
two APs 10,21 23,... up to 110 terms
and 19, 22, 25, 28, ... up to 75 terms?

M

¥
et 27
(b} 36 @ '?.-'E @
fc) 37 ﬁ L
(d) 38
TODC-O-MTH/44C 43"

%

hat is the value of the determinant of
the inverse of the matrx

-4 -5
[0
a3
31 "
@y e G

q e G
* T » e
e) 2 s
-4
(d) 4
-
o -
R B Yo

i, Cafd ”‘j



